In Out A) 2 A) 2 B) 1 B) 1

Washington County Corrections Facility *The Inmates Held In The Washington County Corrections Facility On This 11th Day Of December, 2023*

Inmates by Facility: WCSO: 60 D&E: 0 Other: 1 TOTAL: 61

		inmates by Facility. WCSO. 00	AL. UI	_			
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
1	Parras, Jorge L. WCSO	Warrant- Use of a Deadly Weapon to Commit Felony, Terroristic Threats, Stolen Firearm Prohibited Acts, N/C Victims	07-27-23 1919	WCSO 01-23-24	07-26-03	X X	\$200,000.00 10% \$20,000.00
2	Gillespie, Brandon M. BPD	Poss. Controlled Substance, Poss. CCW with Controlled Substance	12-09-23 1647	WCSO	03-11-04		\$125,000.00 10% \$12,500.00
3	Smith, Chayton M. WCSO	Warrant -1 st Degree Sexual Assault, Strangulation, Child Abuse	10-13-23 0315	WCSO 01-09-24	10-02-02		\$100,000.00 10% \$10,000.00
4	Riley, John M. BPD	DUR	11-28-23 0058	WCSO 12-27-23	12-19-82		\$100,000.00 10% \$10,000.00
5	Lehman, Louis M. WCSO	Terroristic Threats, Burglary, Theft By Unlawful Taking, Criminal Mischief, Use of a Deadly Weapon to Commit a Felony, N/C Victim	10-20-23 0120	WCSO	08-31-98	X X	\$85,000.00 10% \$8,500.00
6	Garvin, Andrew J. BPD	DUI 3 rd , Refusal to Submit Chem Test, Refusal to Submit PBT	08-12-23 1743	WCSO 01-23-24	03-02-85		\$20,000.00 10% \$2,000.00
7	Wilder, Stacey C. BPD	Poss. Controlled Substance	10-12-23 0050	WCSO 01-09-24	04-05-71		\$7,000.00 10% \$700.00
8	Loza Ramirez, Daniel WCSO/ ICE Hold	Criminal Impersonation	12-07-23 2219	WCSO 12-27-23	08-14-91		\$200,000.00 10% \$20,000.00 ICE Hold- NO BOND
9	Logan, Elijah E. WCSO	Warrant- 1 st Degree Assault, Use of a Weapon to Commit Felony	05-15-23 1515	WCSO 12-19-23	06-29-00		NO BOND
10	Collins, William P. WCSO	Warrant- Burglary, 1st Degree Assault, Theft by Unlawful Taking, 1st Degree Murder, Stolen Firearm Prohibited Act, Use of a Deadly Weapon to Commit Felony x2	09-14-23 1723	WCSO 12-13-23	07-25-93		NO BOND
11	Hawley, Melissa K. WCSO	Warrant- FTA for Arraignment	12-05-23 0829	WCSO	04-07-70		NO BOND
12	Huckaby, Sean P. BPD / Dodge Co Hold	Dodge Co Warrant - FTA	12-09-23 2020	WCSO	03-10-01		Dodge Co- \$1,020.00 Cash

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
13	Wright, Roger D. WCSO / Polk Co, TX Hold	Polk Co Warrant- FFJ	12-01-23 1850	WCSO	01-31-81		Polk Co- NO BOND
14	MacDonald, Luke R. WCSO / Sentenced	3 rd Degree Assault x2, Tampering with Witness/Informant/Juror	12-08-23 0807	WCSO	08-02-03		Release Date Sentenced 9 Days
15	Klingforth, Dillan G. WCSO / Sentenced	Attempt of a Class 2A Felony	11-03-23 1505	WCSO	03-12-04		Release Date 12-18-23 @ 0800
16	Ryan, Christopher J. WCSO / Sentenced	Violation of Post Release Supervision	09-19-23 1055	WCSO	12-02-75		Release Date 12-26-23 @ 0800
17	Tyson, Eric J. WCSO / Sentenced	DUI 2 nd , Poss. Controlled Substance	12-05-23 0942	WCSO	03-06-91		Release Date 01-04-24 @ 0800
18	Allen, Andrew J. WCSO / Sentenced	Warrant - Criminal Mischief x7, Disturbing the Peace	08-26-22 1723	WCSO	05-20-82		Release Date 03-18-24 @ 0800
19	Williams, Kierre L. WCSO	1 st Degree Murder, Use of a Weapon to Commit a Felony	12-10-23 1443	Lancaster County	08-02-80		NO BOND
20	Vance, Jesse J. Burt Co / WCSO Hold	Burt Co Warrant- FTA, WCSO Warrant- FTA	11-11-23 1219	WCSO	12-25-02		\$100,000.00 10% \$10,000.00 WCSO- \$50,000.00 10% \$5,000.00
21	Gilbreth, Megan C. Burt Co / Dodge Co Hold	Burt Co- Resisting Arrest, Criminal Impersonation, Assault on Officer, Dodge Co- Attempt of a Class 4 Felony, N/C Victim	10-16-23 2310	WCSO	02-02-90	X X	\$50,000.00 10% \$5,000.00 Release Date 12-28-23 @ 0800
22	Silva-Alvarado, Daniel I. Burt Co / Assumption Parish, LA Hold	Unlawful Discharge of Firearm x2, Making False Report, CCW, DUI, Refusal to Submit Data Master, No Operators License, Disturbing the Peace, Assumption Parish Warrant- FTA	07-16-23 0055	WCSO	11-24-01		\$500,000.00 10% \$50,000.00 Assumption Parish- NO BOND
23	Craig, Samantha H. Burt Co	Burt Co- Drug Court Sanction	12-08-23 0941	WCSO 12-12-23	08-13-89		NO BOND
24	Burgess, Jacqueline G. Burt Co	Burt Co- Bond Revocation	11-21-23 1043	WCSO	01-28-83		NO BOND

_____cc: Captain's Secretary, County Court, and District Court. Signed:_

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
25	Luschen, Nanette L. Dodge Co	Dodge Co- Poss. Controlled Substance x2	11-03-23 1646	WCSO	10-30-85		\$300,000.00 10% \$30,000.00
26	Johnson, Alyssa M. Dodge Co	Dodge Co Warrant- FTA, Warrant- Contempt of Court	11-17-23 1450	WCSO	04-18-01		\$150,000.00 10% \$15,000.00 \$150,000.00 10% \$15,000.00
27	Ringle, Cody M. Dodge Co	Dodge Co- 3 rd Degree Domestic Assault, Criminal Mischief, N/C Victim	10-15-23 0931	WCSO	06-13-90	X X	\$60,000.00 10% \$6,000.00
28	Johnson, Elaine M. Dodge Co	Dodge Co- 2 nd Degree Domestic Assault, Use of Weapon to Commit a Felony	08-25-23 0830	WCSO	06-15-93		\$50,000.00 10% \$5,000.00
29	Simpson, Jeffery C. Dodge Co	Dodge Co- Sexual Assault/Child 1st Degree, Incest, Sexual Assault/Child 3rd Degree x3, Commit Child Abuse Intentional/No Injury x4	12-06-23 1458	WCSO	05-06-75		\$50,000.00 10% \$5,000.00
30	Ruff, Gina C. Dodge Co	Dodge Co- DUI 3 rd , Refusal to Submit Datamaster, Refusal to Submit PBT, Child Abuse x2, Resisting Arrest, Transporting Child While Intoxicated, Obstruction of Peace Officer	09-08-23 0902	WCSO	07-12-71		\$25,000.00 10% \$2,500.00
31	Baade, Tanisha D. Dodge Co	Dodge Co- FTA	12-08-23 1559	WCSO	08-17-95		\$2,500.00 10% \$250.00
32	Kirchman, Erich S. Dodge Co	Dodge Co- Theft by Receiving, Unauthorized Use/Poss. of Financial Transaction Device, Poss. Controlled Substance	11-21-23 1739	WCSO	09-02-86		NO BOND
33	Rodriguez, Julia E. Dodge Co	Dodge Co- Drug Court Sanction	12-06-23 1518	WCSO 12-12-23	01-05-99		NO BOND
34	Morrison, Amanda L. Dodge Co	Dodge Co- Drug Court Sanction	12-06-23 1509	WCSO 12-12-23	10-23-90		NO BOND
35	Zlomke, Tanai R. Dodge Co / Sentenced	Dodge Co- DUI 2 nd	11-29-23 0839	WCSO	07-03-90		Release Date 01-18-24 @ 0800
36	Stuart, Tammie Dodge Co / Sentenced	Dodge Co- Attempt of a Class 4 Felony, 2 nd Degree Trespassing	11-26-23 1702	WCSO	06-04-71		Release Date 03-27-24 @ 0800

_____cc: Captain's Secretary, County Court, and District Court. Signed:_

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
37	Gebhards, Heather J. Fillmore Co / Sentenced	Fillmore Co- Terroristic Threats, 3 rd Degree Assault	11-16-23 1536	WCSO	09-28-80		Release Date 12-26-23 @ 0800
38	Taylor, Jessica L. Gage Co / El Paso, TX Hold	Gage Co- FFJ, Texas Warrant- Poss. Controlled Substance, Endanger Child x2, Deliver Controlled Substance x2, Criminal Neglect	11-22-23 1031	WCSO	02-27-87		\$15,000.00 10% \$1,500.00
39	Willaman, Melissa M. Gage Co	Gage Co- Poss. Forged Instrument	11-22-23 1057	WCSO	01-14-75		\$5,000.00 10% \$500.00
40	Keib, Alexis C. Lancaster Co	Lancaster Co- 1st Degree Sexual Assault of a Child	06-30-23 1800	WCSO	12-19-00		\$750,000.00 10% \$75,000.00
41	Versaw, Kaitlyn R. Lancaster Co	Lancaster Co- Poss. w/ Intent to Deliver	10-10-23 1042	WCSO	02-08-99		\$100,000.00 10% \$10,000.00
42	Dill, Deanita M. Lancaster Co / Sentenced	Lancaster Co- 3 rd Degree Assault	12-05-23 1338	WCSO	03-24-92		Release Date 12-16-23 @ 0800
43	Morris, Michelle L. Lancaster Co / Sentenced	Lancaster Co- DUI	11-17-23 1250	WCSO	12-10-87		Release Date 12-19-23 @ 0800
44	Howell, Melinda T. Lancaster Co / Sentenced	Lancaster Co- Theft by Unlawful Taking	11-07-23 1252	WCSO	03-27-69		Release Date 12-22-23 @ 0800
45	Wiedeman, Meryria N. Lancaster Co / Sentenced	Lancaster Co- 2 nd Degree Forgery	12-05-23 1404	WCSO	09-14-84		Release Date 12-24-23 @ 0800
46	Mesess, Sandy W. Lancaster Co / Sentenced	Lancaster Co- Criminal Attempt of a Class 1 Misdemeanor	11-17-23 1244	WCSO	01-01-91		Release Date 12-25-23 @ 0800
47	Peterson, Ashley E. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	07-13-23 1000	WCSO	09-20-89		Release Date 12-27-23 @ 0800
48	Howard, Karissa R. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	12-05-23 1508	WCSO	03-20-92		Release Date 12-30-23 @ 0800

Signed:	_cc: Captain's Secretary,	, County	Court, and I	District Court.
	- 1	,	,	

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
49	Massa, Danielle T. Lancaster Co/ Sentenced	Lancaster Co- Theft by Shopliffting x4	11-28-23 1227	WCSO	07-28-96		Release Date 01-03-24 @0800
50	Robinson, Rasheda J. Lancaster Co / Sentenced	Lancaster Co- 2 nd Degree Assault	10-10-23 1040	WCSO	06-19-90		Release Date 01-11-24 @ 0800
51	Eastman, Bridget C. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	07-25-23 1042	WCSO	05-03-60		Release Date 01-28-24 @ 0800
52	Ruel, Mallory L. Lancaster Co/Sentenced	Lancaster Co - Child Abuse, Criminal Mischief, FTA	10-17-23 0956	WCSO	07-14-88		Release Date 02-04-24 @ 0800
53	Rogers, Alexis M. Lancaster Co / Sentenced	Lancaster Co- Theft By Unlawful Taking, Steal Goods or Money, DUS, No Proof of Financial Responsibility	10-31-23 1003	WCSO	10-12-02		Release Date 02-07-24 @ 0800
54	Hauschild, Angel L. Lancaster Co / Sentenced / Buffalo Co Hold	Lancaster Co- Failure to Comply w/ Drug Court Conditions, Buffalo Co Warrant- FTA	10-03-23 0959	WCSO	10-16-95		Release Date 02-09-24 @ 0800 Buffalo Co- \$243.54 Cash
55	Moten, Lisa P. Lancaster Co / Sentenced	Lancaster Co- Child Abuse	10-17-23 0956	WSCO	08-23-70		Release Date 03-15-24 @ 0800
56	Daldoum, Najma S. Lancaster Co / Sentenced	Lancaster Co- Theft by Unlawful Taking, False Reporting	12-05-23 1440	WCSO	06-26-01		Release Date 03-25-24 @ 0800
57	Nuss, Crystalina A. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	10-10-23 1042	WCSO	06-01-83		Release Date 04-03-24 @ 0800
58	Hudson, Austin C. OPD	OPD- FFJ	11-22-22 1757	WCSO	02-04-98		\$350,000.00 10% \$35,000.00
59	Lambirth, Ashley K. Otoe Co / Fremont Co, IA Hold	Otoe Co- Poss. Controlled Substance, Poss. w/ Intent to Deliver, Fremont Co, IA- Probation Violation	08-25-23 1530	WCSO	07-08-87		\$35,000.00 10% \$3,500.00 Fremont Co, IA- \$10,000.00 Cash
60	Ramirez, Itsamar S. Saunders Co	Saunders Co- DUR, Poss. Controlled Substance, Poss. of Firearm by Prohibited Person, Poss. Stolen Firearm, Operating a Motor Vehicle to Avoid Arrest	06-15-23 1534	WCSO	04-13-95		\$250,000.00 10% \$25,000.00

____cc: Captain's Secretary, County Court, and District Court. Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
61	Lazinski, Linda D. Saunders Co / Sentenced	Saunders Co- DUI 2 nd	12-04-23 1643	WCSO	05-10-66		Release Date 02-25-24 @ 0800
62							
63							
64							
65							
66							
67							
68							
69							
70							
71							
72							
					_		

Signed:	cc: Captain's S	Secretary, Count	y Court, and	District Court

73							
74							
75							
76							
77							
78							
79							
80							
81							
82							
83							
84							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

96	Name	Charges	Received Time	Housed / Scheduled	DOB	P	Bond Amount/Release Date
95							
94							
93							
92							
91							
90							
89							
88							
87							
86							
85							

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

97							
98							
99							
100							
101							
102							
103							
104							
105							
106							
107							
108							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

109							
110							
111							
112							
113							
114							
115							
116							
117							
118							
119							
120							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

Signed:	cc: Ca	iptain'	s Secretar	V,	Count	v Court	, and	District	Court